According to a study by Macdonald and her colleagues (1996), of a sample of men who describe themselves as condom users, __% did not use one the last time they had sex if they had not been drinking, and __% did not use one if they were somewhat intoxicated.

a.  2%: 5%

b.  2%: 25%

c.  16%: 32%

d.  40%: 35%

.  Which of the following has the smallest difference between its “perfect use” and “typical use” failure rates?

a)  condom

b)  depo provera

c)  fertility awareness

d)  the pill

In class we saw data from the NHSLS (Laumann et al., 1994) showing sexually transmitted disease rates in, and condom use by, people who have had varying numbers of sex partners the previous year.  Those with many partners (5 or more) were ___ likely to have contacted a sexually transmitted disease in the past year; About __% of the people with 5 or more partners reported that they used a condom the last time the engaged in intercourse.

a) least: 70

b) least: 30

c) most: 70

d) most: 30

